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R-23A
PRE - PUBLIC EXAMINATIONS - 2014 - 2015
SOCIAL STUDIES - Paper - |
(English Version)
PART -B

X Class ] (Max. Marks : 15) [ Time : '/, Hr.

Note :-Each question carries /, Mark.

L
1k

Choose the correct answer and write its letter in the brackets.

Highest peak in western ghats is ( )
A)Palani B) Dodabetta  C)Annaimudi D) Cardamom
Effortto increase ground water table is ( 2
A) Checkdams B) Soaking pits

C) Storing rain water D)Allthe above

. Itis more effective green house gas than Co, ( )
A)Ethane  B)Methiare  C)Butane D) Carbon Monoxide
The literacy rate of India by 2011 is ¢ )
A)70.44 B)74.84 C)64.84 D) 74.04

. Ifis not the cause for migration ( )
A) Supporting the family B) For higher education

C) For better jobs. D) For luxurious life

The bans in Hiware Bazare for water harvesting ( )
A) Felling of rees. B) Free gazing

C) Borewells for irrigation D)Allthe three

Brahmaputra river in Tibetis knownn as iz )
A) Siang B) Tsangpo C) Dihang D) Damodar

There is job security in this sector ( )
A) Unorganised B) Agriculture

C) Organised D) Self employment
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10.
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12.

13.

14,

15.

16.

17.

18.

Cyclones and depressions are common during ( )
A) North - East monsoons B) South - West monsoons

C) Western disturbances D) Jet streams

Present chairman of Reserve Bank of India & ( )
‘A) Duvvuri Subbarao B)Dr. YV, Reddy

C) Raghurama Rajan D) C. Ranga Rajan

Migrations are commonly occured from ¥ ( )
A) Urban to Rural B) Rural to Rural

©)Ruralto Urban D) Urbanto Urban

Which of the following is not a final good ? ( )
A) Cloth B) Car C)Pen D) Computer.

The financial year is from ( )
A) March to April B) January to December

C) February to March D). Ap}il to March

‘Schooling revolution' took place in the state of ¢ )
A) Uttarakhand B) Madhya Pradesh

C) Kerala D) Himachal Pradesh

The population of class I cities vary between ( )
A) 1Lakh-5 Lakhs B) 1 Lakh - 1 Million

C) 1 Million - 1 Crore D) 10 Million and above:

Key factor for socio-economic growth is ( )
A) Health Status B) Literacy

C) Income D) Culture.

National Institute of Nutrition is located in - G5 )
A) Delhi B)Bangalore C)Mumbai D) Hyderabad

Thee main aim of chipko movementis ( )
A) Water protection B) Forest protection

C) Land protection D)Agricultural development
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The working age is years

A)15t039 B) 14 to 59 C)15t059 . D)13to59

National food security act was passed in the year (
A) 2009 B) 2010 C) 2012 D) 2013
Fill in the blanks.

state in our

South - West monsoons begin in
country. X
IPCC means

The deaths occured in a year per every 1000 is known as

The main aim of Mid-day-meals scheme in schools is.

Information and Communication Technology come under

sector.

Match the following.

Group-A
The first census ( )
Birth place ( )
Kudankalam ( )
Human Development Report ( )
NITI Aayog ( )

Group
A) Place where bom
B) UNDP )
C) Tamil Nadu
D) Place where resides
E) 1881
F) Prime Minister
G) UNO
H) Kamataka
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PART - A ;
X Class ] (Max. Marks : 35) [ Time : 2 Hrs.

SECTION - | (Marks : 10)
Note :- 1) Answer any FIVE of the following questions choosing atleast
two from each group.
2) Each question carries 2 Marks.
Group-A
1. Defonestanon results in global warming. Write any four suggestions
to'stop deforestation.
2.-Indo -gangetoc plains have high density of population. Find the
reasons.
3. Why do certain places attract more sefflements ?
4. Observe the-map and answer the following auestions.

sy i e N
Tepwuars oty )

H
= = =
a) Which states maintain an average temperature of 20°C in the
month of January ?

b) Why do you think the temperature decreases as we move towards
northem part of India ?

- . [ Turn Over




image2.jpeg
R-23 2

Group -
S. Estimate the role of Anganwadi centre in'the protection of child health
care.
6. Why do we use average ?Are there any limitations to their tse ?
7. How does literacy rate influence the development of a country ?
8. Study the graph and answer the questions.

Tope affarmers (%) GEN:D " prairibution of land cultivated by

a) Howmuch land is cultivated by the medium and large scale
farmers ? :
b) What percenit of fand in cultivated by the small farmers ?
SECTION- I (Marks : 4)
Note :- 1) Answer any FOUR of the following questions.
2) Each question carries 1 Mark.
9. Whatis transpiration ?
10. Whatis global warming ?
11. Make two suggestions to reduce the differences in sex ratio.
12. What are the activities that come under primary sector ?
13. What are "buffer stocks" ?
14. Write any two problefns caused by urbanisation.
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SECTION - ll (Marks : 16)
Note :- 1) Answer any FOUR of the following questions choosing
atleast two from each group.
2) Each question carries 4 Marks.
Group. 3
15. Write about Western ghats and Eastern ghats in India.
16. Indian climate and her agriculture are highly influenced by the
Himalayas - Interpret it with supporting. i
17. “Environment protection is notjust crucial of those communities
directly affected but for alt of us"- Explain with few examples.
18. Read the table given below and answer the following
questions.

Plough

Workers, |sewing

ing planting| - /ing ing ing | cotton
Male | 214 | 197 N BTV R L
Female | — | 152 | 130 | 13 [.196 | 124° | 18 | 136

wtr}& Trans. | Harvest [Winnow-| Throsh- | Picking
i
215

a) What are the works done only by male workers ?
* b) What are the works done only by the female-workers ?
<) Inwhich works the wages are different of male and female ?
d) What are the reasons of paying less wages to female workers
than male workers.

Group-B

19. Describe the role of Multi National Companies in the globalisation
process.

20. Global warming is the great threat to environment. How are the
human activities contributing o global warming.

21. Give reasons to argue for the following statement "Public food
distribution can ensure better food security for the people”.
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22. Read the below table and answer the questions .

o IMR per 1000 | Literacy rate (%) | Net Attendance Rate
(2006) (2019) (2006)
[Punjab o 42 77 7
Himachal Pradesh 36 84 ®
Bihar il e 84 %

a) Whatis net atendanice ?
b) Whatis Infant Mortality Rate ? Which state has high IMR ?
©) Which state has low literacy rate ? Give any two reasons.
d) Whatis the difference in net attendence rates of Himachal Pradesh
and Bihar? Why 2
SECTION - IV (Marks : 5)
Note :- 1) Answer any ONE of the following questions.
.2) Question carries 5 Marks.

23. Mark the following places in the given outline map of India.
1) Kanya Kumari 2) Vindhya mountains
3) Malabar coast 4) Tropic of cancer
) Chotanagpur piateau

24, Mark the‘ following places in the given outline map of India.
1) Mahanadi 2) Greatnicobar  3) K, Peak
4)Rannof Kutch 5) Bhakranangal Project




